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All answers are solved by me. 
 
Q.1 In a HTML Form for file upload input element we use the following value in type attribute:
 
· File
· Text
· Don't remember the other 2 options
 
Q.2 Decimal number system consists of ________ symbols
 
· 16
· 8
· 10
· None
 
Q.3 _____________ helps in finding synonyms as well as antonyms in Word Processors
 
· Tables
· Thesaurus
· Spelling and grammer
· Word count
 
Q.4 Algorithm is a ____________________
 
· Definition of a problem
· Sequence of steps to solve a problem
· Understanding of a problem
· Solving a problem
 
Q.5 Assume that we want to create a text box which is invisible from the user and should only be used to provide data to the web server. Which of the following attribute will be used to make it invisible?
 
· Hidden
· Invisible
· Secret
· Hide
 
Q.6 Scheduling is performed by __________ of operating system
 
· Device driver
· Kernel
· Application program
· None of the given
 
Q.7 Which of the following softwares help us optimizing the various business processes of an organization as a single system instead of a number of loosely coupled stand alone systems?
 
· OS
· Vector graphics
· ERP
· DSS
 
Q.8 Digital computers possess two neutral states _______ and ________
 
· On and on
· On and off
· Off and off
· None
 
Q.9 Which attribute is used to submit a HTML form to a specified hyper link
 
· Method
· Action
· Name
· None of the given
 
Q.10 Greedy algorithm does not support……………….. Situation.
 
· Local
· Global
· Complex
· All of given
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